I | 2 | 3 | [ | 5 | 6 | 1 | 8
1
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 501) Series DBIVll 25P500|VI
Al PHYSICAL CHARACTERISTICS A
-INSULATOR MATERIAL: THERMOPLASTIC UL94V0
~CONTACT MATERIAL:  BRASS, Shell size: EABCD
GOLD OVER NICKEL (see sheet 3)
-ACCESSORIES: STEEL FOR METAL BRACKETS, —
cadmium plated yellow passivation o
THERMOPLASTIC UL94V0 FOR PLASTIC BRACKETS Fro"f(:iiexz;{ g?f'"'f'on
BRASS FOR OTHERS ACCESSORIES, .
B cadmium plated yellow passivation Blank cwithout accessory 8
L cthreaded insert M3
-SHELLS: STEEL, . . _
cadmium plated yellow passivation 3 ':hrered Inse[l:l(:u':cAg 40
cfemale screw -
ELECTRICAL CHARACTERISTICS
Layout of contacts (see sheet 3) -] =
-NOMINAL CURRENT: 7.5A 9.15.25.37.50
~CONTACT RESISTANCE:  <:1.3 m Ohms N
Contacts
-CONTACT/CONTACT : >21000 V P Pin
c -CONTACT/GROUND : >21200 V . .. c
Termination type
-INSULATION RESISTANCE: >=5000 MOhms 5 Righf angle/Europe standard
ENVIRONMENTAL CHARACTERISTICS Plating
- CLIMATIC CATEGORY: 55/125/56 00 Right angle 500 matings/unmatings —
TEMPERATURE RANGE -55°C TO +125°C 43 Right angle 500 matings/unmatings
DAMP HEAT STEADY STATE 56 DAYS for harsh environment
0 SALT SPRAY 48 HOURS PCB accessories definition(see sheet 2) 0
Blank Plastic brackets
MECHANICAL CHARACTERISTICS c Without brackets
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min M ‘Metal brackets
-Female screw:0.5 N.m min
E | E
T
PO OOOODOOD OO G
p @{Té W’WT&T&W 7@} ’@
T
- DUCCTTTTToTuenuomouoTorm —
= 25 WAY for Exomple
3 surface - tolerance std [projection mm
- ci t. 150 1302 150 406 1SO 1101
s e tetconnect. com TOLERANCES UNLESS OTHERWISE SPECIFIED @E} —
< Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
F ’:_'%M‘P’E m::‘“‘” Eng | P LEGARE 2006711714 [ U A Linear [on 0.1 A2 2.1 F
- “Fehe | PLEGARE 2006/11/14 Jo [22 0. XXX +0.05 ECN LS08-0119
e :ﬁEAw P_LEGARE 2006711714 JProduct fomily LSpec e
" . . . o ° Rev
- 'g; SUB MALE DM HESOI series | 4\ gc37.1740
- [~ with right angle contact S — C
- catalog no - CUSTOMER fsheet 1 of 9
I | 2 | 3 | [ | 5 | 6 | 1 | 8

Downloaded from AFfOW.com.

PDM:FR&R:C  sTtaTusRETEaI8eehsedprinted’joked 7, 220188, 2015


http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
3 3
A = = A
Q) |
% % %
[ — [ E— [ E— \
T T T
8 f =0 T 1 I \?\\ \ ‘ \ B
| | | : |
- 23.10 4101 e ¥ B310 01 —
FRONT ACCESSORY L insert M3 V female screw UNC 440 Blank Without L insert M3 V female screw UNC 4.40
Blank Wi thout O insert UNC 4.40 0 insert UNC 4.40
¢ PCB ACCESSORIES C  Without C  Without C Without M Wetal bracket M Metal bracket M Metal bracket ¢
b b N -
[ — [ — [ —
0 2 2 2 0
‘= = ; I
g g ? i g = !
QS\UiU\ } £
E
FRONT ACCESSORY Blank Wi thout L insert 3 V femal UNC 4.40
? ithou O insert UNC 440 emale screw .
PCB ACCESSORIES Blank Plastic brocket Blank Plostic bracket Blank Plostic bracket
g
=.. surface - tolerance std fprojection mm
- ci t. 150 1302 150 406 1SO 1101
5 " creennec o TOLEM ES UNLESS OTHERWISE SPECIFIED @5 —
3 Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
F Eng | P LEGARE 2006711714 [ U A Linear [on 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
appr| P LEGARE | 2006711714 [Product Tomily Soec et
© SUB  MALE DM HES501 series | Rex
. - o CO1-8637-1740
SCALE: 4 @ [~ with right angle contact S — C
— catalog no - CUSTOMER fsheet 2 of 9
! | 2 | 3 | [ | 5 | 6 | | 8

PDM:FR&R:C  sTtaTusRETEaI8eehsedprinted’joked 7, 220188, 2015

Downloaded from AFfOW.com.


http://www.arrow.com
http://www.arrow.com

2 | 3 | 6 | 1 | 8
A
n FRONT PCB Contact number FRONT PCB
PART  NUMBER ACCESSORY ACCESSORY XX PART ~ NUMBER ACCESSORY ACCESSORY
D*MxxP500C without without DxMxxP543C without without
D*MLxxP500C insert M3 without 09 D*MLxxP543C insert M3 without
B8 D*MOx xP500C insert UNC 4.40 without ) DxMOx xP543C inseri UNC 4.40 without
D*MVxxP500C female screw UNC 4.40 without 25 D*MVxxP543C female screw UNC 4.40 without
D*MxxP500M without Metal bracket 37 DxMxxP543M without Metal bracket
D*MLxxP500M insert M3 Metal bracket D*MLxxP543M insert M3 Metal bracket
D*MOx xP500M insert UNC 4.40 Metal bracket 50 D*MOxxP543M insert UNC 4.40 Metal bracket
D*MVxxP500M female screw UNC 4.40 Metal bracket D*MVxxP543M female screw UNC 4.40 Metal bracket
D*MxxP500 without Plastic bracket D*MxxP543 without Plastic bracket
c D*MLxxP500 insert M3 Plastic bracket D*MLxxP543 insert M3 Plastic bracket
D*MOxxP500 insert UNC 4.40 Plastic bracket DxMOxxP543 insert UNC 4.40 Plastic bracket
D*MVxxP500 female screw UNC 4.40 Plastic bracket DxMVxxP543 female screw UNC 4.40 Plastic bracket
0 CROSS REFERENCES HES0! and FCI
. FRONT
HESO1 P/N FCI7P/N ACCESSORY ACCESSORY
HESOIPxxVP6 DxMxxP500 without Plastic bracket
HE50 IMxxVP6 D*Mx xP500M without Metal bravket
E
§
=.. surface - tolerance std fprojection
S www. fciconnect.com 150 1302 150 406 IS0 1101 mm
& TOLERANCES UNLESS OTHERWISE SPECIT IED @E} —
[~ Dr |M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1
Chr | P LEGARE 2006/11/14 a'[ﬁz' 0.XXX +0.05 ECN LS08-0119
Appr| P_LEGARE 2006711 /14 JProduct family -§Spec ref
2 SUB  MALE DM HESO0I series |5 0\ ge37-1740 Rev
= with right angle contact S — C
— catalog no - CUSTOMER fsheet 3 0f 9
2 | 3 | 6 | | 8

Downloaded from AFfOW.com.

PDM:PR&\RL:C

sTaTUsRETBaI8elehsedprinted?jufed 7, 220188, 2015



http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET
A Dimensions are in millimeters A
?0.63 40.03 =
T 2o shell INumber of +0.76 +0.25 +0.51 +0.25 +0.51 +0.22
< size | contacts A ’ B ’ CiO.\Z F ’ G 0 Hio L ’
- F | 09 30.43 [16.79 [24.99 |[10.47 ] 5.9 2" ] 19.02]0.80
A |5 138.76 (25.12 [33.32 | 10.47 | 5.9 &' [ 27.25]0.80
B | 25 [52.65 |38.84 |47.04 [10.43 | 5.7 0% | 41.02 |0 80
8 C| 37 168.94 [55.30 [63.50 | 10.56 | 5.7 % | 57.45|0.90 8
H
- | W _
| iy Iy
Jd s Il Al :
o/ | s S B |
" ‘ ] Ty
; | -
\ T
A
J 404 .
0 C LAYOUT DIMENSIONS 0
B0.9 mini
. i T IET .38 shell 25-37
-1 << = 7 74 shell 09-15 .37 shell 09-15] |
[Te 4 -
© 2 16 shell 25-37 e - ; %
o~ < %‘} o oooo‘oooooo 7@
B 274 shell 09-15 o ooooooc‘ﬁoooooo c
E 3 4 N
~ b7 . ! |
yfeeecescesease ) ‘
\‘GG}G}G}&&G}G}G}G}&&J@» 731
g | ‘ / | -
i T —
% ¢3 OO Tg.‘s v feicomnect.com ‘::LE‘EES UNLESS m:;w‘\csss SP;D\F‘\‘EQD‘ @E} —
T ' I — T T ETAITAT o N e I Y MR [
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
.37 shell 09-15 Appr| P LEGARE 2006/11/14 §Product fa_m\\v -fSpec ref
SCALE:3 'g; SUB  MALE DM HE501 series |5 .o\ gcar 700 [
- with right angle contact S — C
— catalog no - CUSTOMER fsheet 4 of 9
! | 2 | 3 | : | 5 | 6 | | 8

Downloaded from AffOw.Com. PDM:FR&RL:C  sTaTusRETe@8eehsedprinted?jnted7, 2188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
20,63 4005 2 DIMENSION FOR SHELL E,A,B,C WITH METAL BRACKET
g‘ Dimensions are in millimeters
A = A
= Ssh\ez‘e‘ N(uomnb:;”:{ A f00.76 ] fé)'zs C sz |F f§'57 Gfg.zs H fg.sw ] fé).zz
F ] 09 [30.43 [16.79 [24.99 [10.47 | 5.9 0" | 19.02 |0 80
A |5 138.76 (25.12 [33.32 |10.47 | 5.9 &' | 27.25]0.80
B | 25 [52.65 |38.84 |47.04 [10.43 | 5.7 0% | 41.02 |0 80
8 ] C| 37 |68.94 [55.30 [63.50 |10.56 | 5.7 % | 57.45|0.90 8
1.2 +o j =
= S| Qo l bl bl € - M=
. WATAAAAAG | & - I
C e @ [ L 1 | [ \‘ 1 || C
= 1 ‘ \ - ( i A
7 i I -
- | | | ol
7 i | B
= U 405
0 C LAYOUT DIMENSIONS 0
B0.9 mini
. B R ETTIRRFATEY .36 shell 25-31
- s< = 274 shell 09-15 1.37 shell 09-15 B
2 g_ ~
- 776 shell 25-31 =<
o~ < l ob & doolooooold
- = Z.74 shell 09-15 o %} 60000060 bdoo0o0o0do ,d}
E : . N ? E
7 ) |
D-D-0-9 & @ S QoD DO +0.10
g AR ) © 1.
P-0-0 O D DD D DD DD
i ™ | “ L
g = HHHHHHMH I =
: TR S
E. www. fciconnect.com 150 1302 150 406 SO 1101 @5 mm
’ TOLEM ES UNLESS OTHERWISE SPECIFIED —
F | 38 shell 25-37 EDn’g ’:Egi(ﬁ)g ;gg:;::;:j NGULAR LINEAR uc.xxx iz? o A2 5‘2‘:’“9 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
.37 shell 09-15 Appr| P LEGARE 2006/11/14 §Product fq_m\\v -fSpec ref
SCALE:3 'g; SUB  MALE DM HES501 series | C01-8637-1740 Rev
- with right angle contact S — C
— catalog no CUSTOMER fsheet 5 of 9
T | 2 | 3 | a | 5 | 6 | | 8

Downloaded from AffOw.Com. PDM:FR&RL:C  sTaTusRETe@8eehsedprinted?jnted7, 2188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

3063 +0.05 DIMENSION FOR SHELL E,A,B,C WITH PLASTIC BRACKET
Dimensions are in millimeters
A A
Shell [Number of | g 107\ 0B e DT G102 TN N
size | contacts -0
F ] 09 [30.43 [16.79 [24.99 |10.47 | 5.9 3" | 19.02 |0 80
& ) A oI5 [38.76 |25.12 |33.32 |10.47| 5.9 0" | 27.25 |0 80
L +0.25
5 ) 25 52.65 |38.84 [47.04 | 10.43 | 5.7 5 41.02 10.80
8 B < C | 37 168.94 [55.30 [63.50 | 10.56 | 5.7 ‘% | 57.45|0.90 8

1.2 +01

2.54 49

10.3 +02

o
2
ne
M

o

15,18 402
11,52 401
_ Aﬁ

(a]

+0.1

.3

LAYOUT DIMENSIONS

C
B0.9 mini
] 3 76 shell 25-37 1.38 shell 25-31
- = -
T o 274 shell 09-15 .37 shell 09-15
H < -
S o ~N
bl 2.76 shell 25-37 - ; \b
P < T O o O O O‘O O O O 0|0
—= 2 74 shell 09-15 : %} | -
e O O O O O O O O O O O O E
E 11— N
I
7 A ‘
R R ~$9$$$$”/{@_} 23 12"
L Y R e N '
- ; *) =
. L i — ] |2 ‘ —
2 — T = =
> IRORORORORORORORORORORORORORORD IRORORORORORE surface - tolerance std Jprojection
ke www. fciconnect.com 150 1302 150 406 IS0 1101 mm
5 TOLERANCES UNLESS OTHERWISE SPECIF IED @E} —
hd Dr | M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
F 1.38 shell 25-37 Eng [P LEGARE 2006/11/14 LINEAR [ o.xx *0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'\iz' 0. XXX +0.05 ECN LS08-0119
37 shell 09-15 Appr| P_LEGARE 2006711 /14 JProduct family -§Spec ref
© ° Rev
- SUB MALE DM HES501 series o COI-8637-1740
[~ with right angle contact o — C
catalog no - CUSTOMER fsheet 6 of 9

! | 2 | 3 | 4 | 5 | 6 | I s

Downloaded from Arffow.com. PDM . HR%\RE@C STATUSﬂ@TéagedisedPrinted?UUﬁﬁ(iV,Mé& 2015



http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8

0.63 £0.05
- 09 LU0

DIMENSION FOR SHELL D WITHOUT BRACKET (50 CONTACTS)
A — AAAARARARAAARARAARAARARAAAAARARAN ‘ A
O A LAYOUT DIMENS IONS
(— IIII e e~ —— 7 = 509 s 38
M\@ IﬁﬁI<II<I>H>HI<II<I>II>HI<II<I>H>HI<II<I> @ = E o ' — T T
= B D] D] 1D D] | @& | DD @] @] || @] || &[] = —
I) I) <I <I <I> I) I <I [ I) I <I <I> I) Ij <I <I> ; @ OOOO\)OOOOOOOOOOO‘OOOOOIOIOOOOOOOO d}
— ! /II oooooooocI)oooooooo i
B B
. 50_5‘ ¢3-‘i0.IO
_ 66.55 1 B
i
el I
¢ S —— — ) 2 C
[ [ ==Ll
(LRAKRGOCHEG RLRGOAOEIEURAAEL | ‘
A AR AR T AR AR R R ‘

I.T max

+0.25

.0 £0.12

7
I e 0
So| S| = R -
15
61 11 +0.12 j 2 -
S- 52.68 "%
= =
— <
E = o~ £
F ﬂﬂ?ﬂ?@ﬂ?ﬂ?ﬂ?ﬂ?ﬂ?ﬁg&&&&&&&&‘m
= {D ‘P00 06000 0O0E0S 0 O @
2 "&&@&&&@&aeee}&e}&&&&y
p — e
) ~J
: e AR, P i
H e b
5 " creonnec cor I::LEI::; ES UNLESS OTI'ISE(IW‘IIISEE SPI::DI FIIIEQDI @a —
i Dr | M _PESSON 2006/ 11714 NGULF 0.1 303 |size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
I38 Chr | P LEGARE 2006/11/14 a'Iiz' 0.XXX +0.05 ECN LS08-0119
= Appr| P LEGARE 2006711714 JProduct family Aspec ref
276 = SUB MALE DM HESOI series | 0\ acsria0 |
- with right angle contact S — C
— catalog no - CUSTOMER fsheet 707 9

! I 2 I 3 I ‘ I 5 I 6 I I s

Downloaded from AffOw.Com. PDM:FR&RL:C  sTaTusRETe@8eehsedprinted?jnted7, 2188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
063 0,08 DIMENSION FOR SHELL D WITH METAL BRACKET (50 CONTACTS)
A A
T
HHHABEHHHBHBEHHERHHHHAERHEEIRHEHH .38
S L 1182t ot ate| ot ate| ta| ata| ata| atalatal atalalalala sl e = 2 80,9 nin 216
xRN N NSRS NN AR AN AN UMAS A B N 4-1—‘%
- I‘JI [4naUanatanatatatanalanalanttdratatalatalaiatanblanalanhl © \o 66
@ H I S I S S e L LR TR LR LR R @ = : 0 0 00 O0O0oO cP oo o o ofo
l) J_a é é) i) i) é é) i) l) é é é) l) é é é) ~ @***eﬂfH%H*%@%*H%H*%***@
\\ | = O O O O O O O O O O O O O O O O i
[ I |
8 55 07 505‘ ¢3-‘i0.IO
66.55 "
0.1 —
6.00 3 B
= F
B | 7oz
c —=— s ——1 o~
~ 74@777 | | [ [ | | [ [ | | [ [ | | | [ | 777@77 [ | | E—
A 11 VAR U i
i - S S [ R R S i T 3
= L\ I N - ~
— | — L =
I ! I |
. I | | Y
0 H I I
oy 2 = f 440
7] <_ 52,68 102
% = 8.6 401
€ B o~
5 $$$$$$$$$$€e$$$$$$‘m/
o @ "G}ﬂaﬂaﬂ}ﬂ}ﬂ}ﬂaﬂ}‘&&}ﬂaﬂa&}&}ﬂa&” // 7‘\
- $$$$$$$$€}€}$$$$$$$“J
— —
T — T
;. " fc feennee + eor ‘:ZLE‘E ES UNLESS OT‘HSE(;W‘IUSEE SP;DIF‘I‘EQD‘ @5 —
Tk eertr ot Taoas e P e [ e A2 S
‘38 . 276 Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0119
. . Appr| P LEGARE 2006/11/14 JProduct Fa_mIIy -JSpec ref
'g; SUB MALE DM HESOI series |5 o\ ges7-1740 |
- with right angle contact S — C
— cotalog no CUSTOMER Jsheet 8 of 9
o I 2 I 3 I ‘ I 5 I 6 I I 8

Downloaded from AFfOW.com.

PDM:PR&\RL:C

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015



http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
063 40,05 DIMENSTONS FOR SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
A LAYOUT DIMENSIONS A
| .38
E 3 80.9 mini 2.76
7 ; O O\O O O O O O O O 6 6 O O O|0 B
@* O O O O O OO Or0O OO O O O 0 O *@»
O O O O O O O O A} O O O O O O O O
8 +£0.10 8
55.07 " 3. |
+0.76
_ 66.55 -0 B
L
3 p
C [*777737 3 C
. - | A=
g j z 1 o~
-~ ~ \ ‘ \ - |
= > | =
1
0 H | ‘ | °
= = = _ i 4 05
+0.12 = = B
LI - i 8.6 0.1
- - 40.25 - = = ‘ : : —
S 52.68
| = 7 i N - ;
J $$$$$$$$‘$$$$$$$$”/ S
?‘ = @\'@@&&@@&@@@&&@@&&” i 4
o2 "&&&&&&&&ee&&&&@&&’J
g — |2
: R , i i
% " fc feennee + eor ‘:ZLE‘E ES UNLESS OTLSE(;W‘\OSEE SP;D\F‘\‘EQD‘ @5 —
F .38 R R T s [ e MY R
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
2.76 Appr| P LEGARE 2006711714 [Product amiTy Apec el
2 SUB  MALE DM HESO0I series |5 0\ ge37-1740 Rev
- with right angle contact S — C
— catalog no - CUSTOMER fsheet 9 of 9
ST I S I S S IS R [ =

Downloaded from AffOw.Com. PDM:FR&RL:C  sTaTusRETe@8eehsedprinted?jnted7, 2188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

